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Note : Belore answering the questions, read carcfully the instructions given on the
OMR  sheet.
e (DF)O8 2TeL 1TSS S0, OMR esaren H@and® adgadd rsven wr|tdm Scnod.
SECTION - A MATHEMATICS (e3¢ B°09a00)
1

L sum and product of zero's of a Quadratic polynomial are 1. 1 respectively. then its
corresponding quadratic polynomial is

2.8 ENORNT LV SMEYE rﬁrmge Dodo da éyav?ge) O X 1,1 e@and, ¢ Vel 22THO fD& ?

4

A ¥ —x+l (2) X2 4+x+] 3) xXex-2 (4) Vo402
2 I the ¢quation v +3y=10. the value of v is 4", then the value of x will be

St 34 10 0E6p0S® 1 @) Jeod 4 oand, X devd

/’)' 2 (2) 2 (3) 4 (4) 3

3 JF + \/r_/. is an irratioial number, where p, ¢ are

(1) Iyen numbers (2) Prime numbers

(3 Rational numbers (4) None

\[; + ‘/; 60 domg @Owd, P. e

(1) &8 domgew (2) @ed dowgen

(3) osdBan dongen (4) 8 soep
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6

9

Which of (e lollowing s true 2

() e=0 (2) n(d)=0

3) ¢=1{o} ,(4{;1(¢')=()

@-h.c.d} then number of subsets of 4 are
={a.h.c.a)
(1) 8

I i's

VANH, A% Ko B se tomg

(2) 12 Mm (4) 20

ations 3y 4 4y =k and 9x+12y=6

Ava g,y k aBan; 9,1;+12_|"_-(1.

he pair of equ

has infinitely many solutions if f =

b ESerer pa, DI0EDH Feden DA doard wis k =
(13 @71 2 3) 6 4) 5
Ihe base of common logarithm s
ROBEArTR e (@vEmedd wWerdo
(1) 2 (2) § (3) 10 47 1

The Baik sf s 3 5._7 AT ; :
The pair o cquations I¥TIV=T, 9x-10y=12, represents the following

(1) Parallel lines 25 No solution
(3) Infinitely many solutions (4) One solution

(] B

v -'%_u 7. 9x =10y =12 Bgr $hEsmme ud, Bod o0 dD drdods.

(1) Sirodd dpewn (2) s e

(4) 988 >0

(3) WLoELH FrGhenotran

1 the given lines 2y 4 kv=1and 3v-5; =7 gre p

arallel, then the value of & is
2y + K| dwbBany 3y

=7 e Srodd Bpen wansd, & Devsd
10
(1) 7 3T

10
: (3) -13 A -
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1

12

13

14

Ihe zero's of g ¢ ic
I'a quadratic polynomial 4v2+8y are

417+ 8y 5 esong @ty drangen
(1 0,4 ) 0.2

If the equation ax? —8y+4 - has
7]
ax” —-8x+4

(2 (2) 3

ca b g _
If E=E?’=Ei then the lines are
(1) Unique solution
(3) Infinitely many solutions

L b g

o

Hn,

i ——
b, ", ®wand, e Bpen

(1) B8 5 8O dyotran
(3) wdodd rdben SOA dotroan

The number '’ is a
(1) Natural number
(3) Integer

' it el

(1) Hiees DomY

(3) &rg omg

If the H.C.F. of any W0 numbers
(1) Coprime numbers

(3) lrrational numbers

Both dopge BNE) Hdeer 1 @on
(1) 26038 (DD Hopgen

(3) gosdon Homgen

(3) 0,8 (4) 0, -2

equal roots then a=_

=0 &80 Sy Garere SrEDd 'a' Dend

(3) 4 4) 5

(2) Coincident
(4) No solutions

(2) dbgdran
(4) decsd Bebo

(2) Rational number
(47 Irrational number

(2) wssddan dowg
(4) goedars Bowg

is equal to *1" then those numbers are called as
.('2'3' Prime numbers
(4) Rational numbers

&, & Doty "mq:gtum ....... wobtrth,

(2) (Bgrd domgen
(4) wisdah Hopgen

e —
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15 Ihe value of log,,q 1250 18
l0g) 15, 1250 Gnsy Dewid
(10 (2) 1

i

(3) 2

16 How many two-digit numbers are divisible by 3 7
3 8 grAosed Bodole dopgey o) 7

(" 30 (2) 35
17

(1) 16 K_') 32

' 4
#

(3) 40

(3) 18

I8 The pair of equations x=0 and x=5 has

(1) Unique solution
(3) Two solutions

(4) 45

In an A.P. if the first term is 4 and 9" term is 20 then 15" term is
8 wos@d @ng) Bndel Hhn 4 Dda 9 b Hhn 20 wand 15 & HShn Jod ?

(4) 36

(2) Infinitely many solutions

& No solution

x=0 @baty x=5uH SEcure ue LOA dod dben

(1) BE b 5OA dotrawn

(3) Bodh rgdei DA dotran

19 The degree of a quadratic equation ax?+bx+c=0, a#0 is

(2) wdodd Fden §HA dotron

(4) ot dresiben SO dodd)

ax> +hx+c=0, a#0 t:g Sdmidn sy HOhrohy

(1) 1 (2 2

(3) 3

sty W

20 The distance between the points (2, 3) and (4, 1) is
(2. 3) @bam (4, 1) Bothipe deg drtin Joi ?

(1) 2 (2) 5

oY

4) 4

4) 243

21 The slope of the line whi v ST . Wi SRR ZEC
p the line which makes 7 angle with the positive direction of S

3
v-0gol s7é18 B8 = Spa Aas, dp aren dod ?

(1) -1 X0

(3) 1

(4) 2
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+ The sum of 10 terms of AP : 2,7, 12, ;

R

2 a3 oare the rooty

O & quadrar :
. dtadratic equation ax® +hx+¢ =0, a#0 then 2,52 _
AN Fh = U‘

o) &
| 5 oﬁ:ﬁﬁma‘m ﬁb‘,ga_ Barerey o, Ben mowd, o2 4 E2 =
() T(Hj + 2he)

1

(2) ;%(az-:zm-).
(3) L3“’24’3:«')

! W"—z (hz - Zfzc-)
u

The sum of first *»* patural numbers js
o3

3
e Sowge B

F:n(n-l)
(1) ZI g ,.L})JZ”EH{’:;”

_n(l=p) 2 2
f?ﬁ)\ Zf?—'—z—- (4) £"=H (PL“'”

15
26 Wy s @OSAGSE™D 10 dore Audin Jos ?

(1) 340 (2) 345 (3) 240 5;6 245

Il"a quadratic equation 2x? + kx+3=0 have two equal roots then # =
207 4kt 3= 0 38 ShESwan Gty dreres SrENBS k =

(1) +643 (2) £243 51006 @) +343

['he roots of a quadratic equation x*=3x-10=0 are

¥ = 3x—10 =0 56 s Swey drere

(1) -5.2 2) 5.2 25 4) 2. -5
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27

.

28

29

30

. s - : n s
I'he sum of roots of a qm-ldr,‘_lllt.‘ cquation 3x= - Tx+11=0 15

337 = Tx 1= 0 i S Egmin BwEy drero Tdin

F g -.I-.7 7 3 - i
iy % () -3 (3) 3 4 -3
Which vessel shown in the below figure can hold more water 7/
S

4 & il
n o B ‘ I em
Faceses: %

e a

I em 4 cm
() A @B
(3) same in A and B (4) Not decided

(Bods wirisd O (8, ey 6 HD KOA dod Kk ?

4 %o.b, - '
n B | 20.2D. A

| Do, Tiwh, 7
(I A (2) B
(3) A Heat B sars 8arman (4) DavosSan

The curved surface area of a cylinder is 264 m2 and its volume is 974 13 :

of ti cafinies 1 s volume is 924 m? then height
(1) 3m (2) 8m ,‘M/ﬁm (4) 4 m

ws G Glosy, Hgde Broghy 264 3.0, © Hrih b $Birehy 924 2.2, wand, @ arsin
“)g? @

(1) 3 . (2) 8 &, (3) 6 . @) 4 &

The radii of two cylinders are in the ratio 2 : 3 a 3o
& * nd 1hE' h 3 = :
then the ratio: of fheir volumes are r heights are in the ratio 5 - 3

Bodk drare Tgrgre A8 2 1 3 B0y ol e B8 5 1 3 wowd, 68 w3 DBAreTme) A8

) 20:27 (2) 40:50 (3) 20:30 (4) 50:30
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1l

[] HIE prorees = 472 ) savaues [Ne |ne Sﬁgment ioining the p.oin[ﬁ A(X)-0) ) ana 2ias. v, |

ernally in the ratio m,

in M5 then P(x. _\') -

(- )) 2000%0 B(xz,yz) Dot e s D6yds Bure poardy My M2 Aiy8S° woddorr
ooy Doty P (x. y) A0 AMrdseen

) wq ki . YL 1 B My maxy MYy LY }
-m = —_— =
™ 2 m = m, (2) my =, my =y
5 mxy Xy My, +msyy, MyXy = MyX| MYy = MYy
(. ’ _ . t =
my + m, m, +m. (4) [ my+m, m, + niy

I'he radius of the sphere is increased by 100% then the volume of the resultant sphere
is increased by

o8 RPein B Tgdrsin 100% Dods, DEyd Aein @ns) b Hobrein Jod BhdD ?
(1) 200% (2) 700% (3) 500% (#) 900%

If the radius of a sphere is '2r' then the volume will be
Feftn @y argdrdin '2r' wand, o°d b Moy
5 AL

4 3 3 83 2k
(1) TR (2) 4nr (3) 7T (4) T

A ABC ~A POR, £ P=60°. £Q=75° then ZA=

A ABC ~ A POR; £ P=60°, Z0=75°w008, £A=_____ . |
(1) 90° (2) 75° (3) 40° yf&on

The mid-point of the line segment joining the points (2, 7) and (12, =7) is
(2. 7) @8axw (12, =7) DothHos' JEyh Byrpodin Gy DEg Doty Ardsten ?
(1) (7. 0) S (7.0 (3) (0, -7) 4) (0,7

The centroid of a triangle is (4, 1) and two vertices are (2, 3) and (7, 6) then the third
vertex is
& (Bzbe g Solsiw (4, 1) oot eI Tod Aoren (2, 3) @8 (7, 6) eand, frds 3o
(1) (3. 6) (2) (-3, 6) (3) (-3, -6) (4) (3, -6)
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H Y [[E prareris rs mnsmsavl g
37 The angle between the tangent and radius drawn through

5)8 936y Dochid B g8, 068 D fe Ima’m (4) 80°
(1) 100° (2) 70° 90°

‘ . e v the centre of g
38 Calculate the length of tangent from a point 15 cm awdh roi it

ol radius 9 cm.
(1) 11 em (2) 9 em MIB cm (4) 10 em
9 208, rgdrdir o Hyads, ovd Soin wod 15 Ro.. droand” o8 Do Sod. uq, .

w Doci§) ©od HymIB Aaveds 16,88 PEH SwFTbed ?

(1) 11 0., (2) 9 o, (3) 12 0.5, (4) 10 2ol

39 In the below figure ARST - A RBA then the value of x is
(Bod Doty wod ARST -~ A RBA wawd, X Dend

(1) 12 (2) 24 (3) 10 ),or(la

40 In the below figure A POR ~A ABC. then =+ y =
(Bod st 08 A POR ~ A ARC wai®, Z+y=

£

—_——

P A )
3 : z

-1 30°

0 Y R B
(1) 14343 (2) 9

+3 | () 74343 44343
SPACE FOR ROUGH WORK / 0 508 Seramosuns Sodo
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a RP and RQ are the twq tangents

Z PRO= to the circle with centre *Q" and £ POQ =110° then

‘()" So|&&m
!RQL ™ fo D88 RP oan RO mam Sy6Bwen B0 £ POQ = | %
‘::' = e

2 _:

-
=]

Q
gl) 70° (2) 90° (3) 350 ) 100°

42 A circle touches the sides of a quﬂdnlalc.ral AB(D at points P, O, R and § then which
of the following is true ?

08 By ABCD $&&3eedy P, 0. R ©bafh S Do 38 o8, (Bod sd&* DB dégin ?

R 2 poee]
D
S 1¢
A
2 B
(1) AB+CD=AD+ BC ({(AB+(D>AD+BC
(3) AB+CD< AD+ BC (4) AB+ BC = AD+ DC
‘.T.Tr
43 From the below figure the value of ‘x'=ih-_ 2
Bob Hésdn wod 'x' Ded
A D
+
24 : 12
C <
(1) 1 (2) 12.83 - —3) 14 (4) 25
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¢ vajue ot AB s

| AB then n
AB 0%

P =12cm and OF
4B @0,

e (OB =13cm;
2 mmlh,‘ mmm (-‘P.L

44 In the below figur
~13 o OP=1

Bob i @od OB

(4) 75 cm(Bo.d)

(i) 5 cm(Po.) (2) 100 em(moy (3) 10 em(wo.)

45 From the below figure the value of 'x'=_

{Bob Htdw wob 3! Dewd

@y 2022 cm (R0.)
(4) 2020 cm (%0.0.)

(1) 2021 cm (20.20.)
(3) 2220 cm (20.00.)

O 0 dy s ¥
46 The median of -4, —0, ~5.3,0.5and 11 is

4. 6, -5, 3,0, 5 doown 11 o Hsgrido
(1) —4 (2) 6 (3) 3 0

47 Average of 11 numbers is 10.5; If one of the number 9 is deleted, then the average ol
the remaining numbers is
| 1%omge> 070 10.5. &8 dowg 9 & Fohodd, DHD Homge HoeRd

(1) 10.1 (2) 10.5 (3) 9.5 (4) 10.65

48 When two dice are rolled the probability of getting same odd number on two dice i
Sty DO b Both e DA el B dowg ©hod doarigs

LA Ly ! 1
}/12 (2) T (3) 15 (4) T

SPACE FOR ROUGH WORK / Dé %08 Beranobedd Db
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sy 4
the |’1mh1h|||w of

¢ Y " red bal '
SE 3006 4" s etting req ball is alls. It one ball is drawn at random, thep,

%) Ddan) *6°
@i Ko ORI He ¢ ‘MJ@ o SO0 us 0
e e ROSI GRS Bodrr ©6 gy o
A"
(1 = 3
3 )3 (3) '
| 5 (4) 173
It mode = 29_ mean = 32 then med;
- lan =
a,ylur;‘mf(:ﬁ;u 29, wesew = 39 OO, Wegriso =
( : (2) 30 (3) 30.5 (4) 31
5 3
In the right ang] i '
eIt Angle AUBC, 2 Bugp. g > then the length of hypotenuse is
08 wontin \Bebeso A 4B & £ B= 90°, tan (' = -

(1) 16 12 ©od @ (Bahe $8hn PED) Jog?

(4) 17

(2) 13

[-u'l B

(3)

It 13-“(;’1—3):-—1—_ cosd=-L
-JE";- , 2 therl Z B =

tan (A — B) = - S o _
ﬁ.— cos A 5 wond, £ B=

ay & )

I}

(3) 9{%

3 If 4=45° B=60°. then sin 4+ cos B
A=45° B =60° eond, sin 4+ cos B Devd o ?

= 2442 2442
(1) zzf 2) ’*‘/_ 3) =7 /6’,:/5

4  The length of the shadow of a vertical pole is J3 times its original length. The angle

of elevation to the sun is
w8 LB D66 e Doy, @ LHB PEHH 3 Ben wawd, g @ L6 Dot mgsﬁ‘mm ?
(1) 300 (2) 45° Xy 60° (4) 90°

—
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"
v

58

59

60

ith the clevation g
. the ground wi .
ove B a:irﬂlﬂq' 6000 E‘w;.h

ng (lying al 100 m ab i b

Find length ol a Kite stri .
o Odb0 grdivod 100 . Hrd s Hbead9)0, &

Biisy, oot FaY 08 7 y
~ 100 50 ) .‘_%_)_(l (4) -f_{
3 (2) /yf 3 :
Ul v A
I sinB=cos8 (0=0<90°) then tanb=__
sin0=cos0 (0<0<90°) wond, tanb=___ %l
(1) -1 (2) 4 (3) 2 (
The value of ——20% _ s
Gtanla

lfano Nerih

l+mn2a
(1) cosa @1 sina (3) GoRest “4) seco

The tops of two poles are of height 20 m and 14 m are connected by a wire, It th
wire makes an angle 30° with the horizontal, then the length of the wire is

(1) 11'm (2) 12 m (3) 13 m (4) 10 m

20 . ©bat 14 . T He Bodh Hoare F'HD) mdhE DX, o ord BB Shrosd dad’ 30

Emian B0, @ ovd Swd) Tay o ?

(1) 11 &, (2) 12 & (3) 13 &. (4) 10 &
Identify the correct statgment -

(1) PlE)=-1 /({; P(E) =1 (3) 0=P(E) =] (4) None
&1 (Bod eS8 HBGLH (b -

(1) P(E)=-] (2) P(E)=] (3) 0 P(E)<] (4) 28 =

2 3 N !
|1 s.m(,d—-l.f)—i- and cus(A+B)=5 then Z4, /B=2

sin(ﬂ‘~ﬁ)=zl aban) QOS(A+B)=—;-’- @and, ZA.ZB="
(f 450, 15° (4) 19%, 45 (3) 45° 30° (4) 300, 150
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SECTION - B : PHYSICS (98 725

W hich of the following is the equation for given circuit as per Kirchoff's loop law ?

gh b ard QDD (HS G ANYD Hoarrds HhEsman I8 ?

A
(1) 31+12=0 _(})/ 3Ix12=1 B)31x12=0 (4) 31-12=0

i the circuit given below, if the equivalent resistance is 10 Q2. find the value of R.

Eo adgedd doonod® HDE J'EEY dewid 10 Q wond, R Dend Snfrodn.

40
; R AATAY
12€2

() 8¢ (2) 16Q (3) 7Q %

if one of the resistors breaks down, then

1 In series connection of resistors,
flows in the circuit

1) circuit is open and no current
(7} current increases in other resistors
ains the same in other resistors

(3) current rem
ors a little

(4) current decreases in other resist
Woreh Bl syt SO &8 2B 5t HVBanEDE, ad PO
(1) teoho Bhdwd, H0008" DBFE TR ehFFd0d

(2) wAdS :J-B‘qr-ué‘ Dﬂbsémn“a‘rm 2 dod

(3) DADs Dfgred® Dgdyyarara woB dotwod

(4) ans sEtred® dbgdyymiran B dhéod

——

_\_‘_\_‘_-_-_
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64 Usage of fuse in a circull prevents o ‘ o
(1) Power cul (2) Overload }3) Short circ

28 doahod® ?QPSEE 45#1);:::&' srardidod.
(1) debogh & (2) &35 &6 (3) B ddry gt (4) 38D soed .

(4) None of the above

65 A bulb is marked 60 W and 240 V. Find the resistance in the bulb.
a8 weny 60 W bty 240 V ed (80s50d6, wenydtd d6¥¢Em Jos ?

(1) 400 (2) 1800 /m/ 960 Q 4) 600

66 The magnification of a concave lens is always
(1) equal to one  (2) less than one  (3) greater than one (4) none of the above
DErs=E Sbsin Qwty, GREN Jubypdr .
(1) ae858 somtitn (2) add 08 s  (3) ase godd Qs (4) 2R =Y

67 Angle of vision of a healthy adult human is

@B g0 6y St
(1) 10° 52) 60° (3) 90° (4) 40°
68 In an eye, muscular diaphragm between aqueous humour and the lens is called
(1) Iris (2) Pupil (3) Retina ) Cornea
508", 'S (508 50508 Bo6sg 0B B0tk T B Sxos eVt |
] W,
(1) % (2) s (3) Befee (4) s0yas

69  Which of the following is true in case of a concave lens 9

(1) Erect and virtyg| image (2) Inverted ang virtual image

/(/37 Erect and real image (4) Inverted and rea image
YErEeS 0528 HowoBod & Bod o&3¢* Db vease ?

(1) 08 deng) HBaLh) DGR [DBDoH (2) doBotven BBos, WEPS (HBDoeE)

(3) M dewd) Hbasy des [PDoaxn (4) SoBothen HBavy D L EAITI
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0 For a convex lens magnification of virtual image is possible only when the object

71

72

73

distance is

(1) equal to F (2) greater than F
() less than F (4) none of the above
| HoprEd 08 Dod Jod Erdine® SH dodEipd DErg (HBHoH WHIH BothEod ?
(1) mrgfgoddiubg Shrd Erdin (2) wrgigoscin Soll b
(3) oregigodsin sof) gy s (4) 26 ==

What is the focal length of a plano-convex lens if ‘R’ is the radius of curvature and
'n’ is the refractive index ?
S de HoprsnE ot Gy Her grdin ‘R’ ooty 80 mhein N’ wand, eigosin

o ?
. ‘ 1
() r=R (2) f=% _ay f=— (4) f="

What is lens maker's formula ?

638 Sarrd HHE8min Jds ?

11 | (11
M:(”_”(_R_I-FEJ : ) T“(n-”\.R_l-R_l.
| ;| L fibocc
(3) T:(r]+|)(ﬁT+R—2'J (4) f‘-([]+l)kR| R3

I'he focal length of a lens depends on

(1) Radius of curvature (2) Refractive index of the lens

(4) None of the above

‘__/(,3) (1) and (2)

085 g, Taigoddin BIP weridD.
(2) sedin @ngy 58559 Mnshn

(1) dfer orgdrdin
(4) 28 s2ch

(3) (1) 2baxs (2)
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74 The size of the image formed by a convex mirgor is always
I

(1) Enlarged diminished /
(3) Double size ol the object (4) None

hoersrs S8 man D8 [HB8ow HBErmin Jdebyd

(1) )8 Bodid (2) o&ye

(3) S dofl Belory - (4) 26 s

78 The spherieal mirror whose reflecting surface curved outward is

LB Convex mirror (2) Concave mirror
(3) Plane mirror (4) None

O Ferens S6ymin B0t Homiss do Y& pabe Bods érotuod ?
(1), So0prsvs &6 ymian (2) {perss Goymin
(3), Sode &6 ymaw (4) 0 s

76 Every lens has focal points.
(0D Sediansg TEhenotraw,
2 (2) 4 (3) 6 (+) R

71 1rh convex lens is placed in water. it's focal length
H increases (2) decreases (3) does not change (4) none of the

ﬁswmcs EhEhn Dasd BOUR P & TErgodsin

above

(I“l) WD (2) deoio (3) &rds (4) 28D =y
78 The type of mirror used in solar cooker is
7 Concave (2) Convex
(3) Concave and convex (4) None
Ferb £4 6 soth sdarhod 86w
(1) Herss (2) Dogres
(30, Horss by Doarsd (4) 26 =
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i

8

83

f4

| e punimum distance of an object from the p{_‘)h_. to obtain real image n casc ol 4

NG mirror 15

e 6 G630 000" Jes (HBDoHN doeyBeod, D 8 yn oW Jod S &rod’

/ n:‘:‘-.' ?

)| /_f?g]: 3) 0 (4) F/2

|| the local length oba spherical mirror is 10 cm, what is the value ol radius of

curvature =

(1 1hem | 20 em (3) 30 cm (4) None
Fmend GO )@an Gy FrEgoscy 10 20.5. wand, HEe° g G Jod ?

(10 202 (2) 20 20.5. (3) 30 o (4) 2b =&

Which ol the following is the formula for magnification in case of sphcrical mirror

Foyrsd GO)RENE" WHEHILHD Jr(Ew 6 ?
v

=V J
W Py ® v @)

Fy

Parallel beam of light,afier passing through a convex lens pass through a point called
(1 Pole (2) Centre of curvatur¢
(T ocus (4) None of the above

sarods 5Po8 o &oersed SeEhn oae [Hareodd S 2 Dot rboa® DPH ? =t
(2) HEee Bolsaw

(1) ¢ ymemo
(3) =>d - 4) Tﬂm 5%
i
Multimeter can be used’to measure
(1) current (2) voltage (3) resistance all of the above
<5 anh B Gadrho &r'-'.'la Ererd SR . /
(1) ckogdh (2) SBE (3) D8bessin (4) 00

Which ol the following relation represents Ohm's law ?
& (Bob O pomoding & Dopinind rpod ?

1
Iy v ;-) Vieerr 3) v=I (4) p=VI

Y
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L[}

87

hh

89

i)

POLYC11:2022—R |

I
Sotid" e Treigostion B titaniud® tnddos,

\ Person is advised to use 3D lens. What is its focal length ?

(1Y 30 ¢m (2) 5 ¢m (3) 2 ¢m 20 ¢m
ot He88 51D fawd) ool drdodudhs, o) engoddin Jod ?
(1) 30 w0k, (2) 5 %ob, (3) 2 2o (4) 20 2o.2d.

SEunit of resistivity is
DB DB i dlndy S| Bérodn
(1) © (2) Q-m (3) Q-m°

4) Qm™'

Focal fenath of the eve lens changes with the help of
(1 Pupil (2) Aqueous humour
(- Uliliary muscle

(4) Optical nerve

(1) g

(2) H#*es (g0
(3) hand dodso

(4) c.‘:aE b
Direction of electric current and direction
(1) Same direction
DOpposite to each other

ol ¢lectrons in a conductor are
(2) Perpendicular to each other
(4) None of the above

ol i d el (Do B4, weFsine &4 & Ddorr dotra.

(1) e &4

(2) o ordE563 womorm
(3) #eods o4

(4) ot mé

Obstruction o the motion of electrons in a co ductor is called
(1) Conductivity (2) Resistance Mﬁcsistivily

i Ehna® ng"gmm Hemds 04 umm?{)l QerE woked,

(1) arirddeim (2) astdsan (3) D85 defesin

(4) None of the abo

(4) wiarm md
The defect by which some people can not see near objects clearly
objeets is called

Myopia (2) Cataract (3) Presbyopia (4) Hypermetropia

Fotd drdm &) Snhei M Srédh = drdorr aR) SpHod drdted, & & e,
wer wodrd),

but can see disty

(1) g ay (2) ot hgven (3) Swegstn (4) &g &

SPACE FOR ROUGH WORK / 0 598 Semavoised e
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SECTION — C : CHEMISTRY (§2a8% 382

ol which of the following 1s a non metal ?

Bob 838" wd'io 26 ?
(1) Pb (2) Sn (3) K

(4) S

g3 Which of the following process is used for the purification of crude metal ?

(1) Roasting (2) Poling Calcination
[Bod 838° Srel SHIPHOT DO IO ?
(1) g0 (2) 2*Ooh (3) gfiysdmo (4) Hob B
93 Which one ol the lollowing metal Dccufs in the native form ?
Bob 838", (B8)8s" sire Do uﬂgﬁ:cﬁ&)g &iro
WA (2) Ca (3 Mg (4) Na
% The 1nc:;re reactive metal in the activity series is
by Potassium (2) Iron (3) lIZinc (4) Platinum
SorgRerd Re3S® b Sorgheod fo &iro
(1) drerhosHo (2) =m0 (3) #o8 (4) 3%
% The carbonate ore among the following is
(1) Bauxite Magnesite (3) Haematite (4) Carnalite
Bod mre3s® 508" Y5 e 26 ?
(2) wreyPS (3) T0ps (4) =588

(1) exByeS

(4) Froth flotation

gPACE FOR ROUGH WORK / D& 508 Beranodnds Hehn
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96

97

98

99

the following.

Identify an acidic {Tux among \
- 45789 hbowod. H
o inikaaao (3) MgO (4) CaCOq
) Sio 2) Ca0
i ipuration violating Hund's rule ?
Which of the following electronic configuration violating
800 e ol dapird) duowod dogees g J6 ?
2

D ] @M ]t

25 2p 2s 2p
Gring] [t T1 17 @ [ [

2 p s 2}3
The ¢l

assification of elements which is based on atomic number is
(1) Dobereiner's law of Triads

(2) Newland's law of octaves
,(2{1/ Modern periodic table

(4) Mandeleeff's periodic table
SEErE) BODE 1 WEREHAS duregse shddm D8 2

(1) arabsh 04 Reroding 2) frgeraly @18 dav i

(3) echdd wisgs o3y (4) RwoabS wis s

l'our quantum numbe

rs of valence

Fdano alngy Besond 'ME"?5 '51135,} ene 5°gobio Knumsm
(1) 3, 0.0, 117 '

lectron of sodium
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” (]]'\{L‘l' Ol CHCLENY O Orolitals
I

HBJ@*%J H%LE:}):JM
(1) 35>3p>3d>4s (2) 3s<3p<3d<ds
(3) 3s=3p=4s=3d (4) 35{3pfi4s"~’~3d

(02 The total number of atomic orbitals in third shell of an atom

o8 DEEPES™D DrEd 856° ¢0d wbyere) vomg

(1) 1 (2) 3 (3) 9 /(*0/18

_ : . S
103 Which is the least electronegative element among the following :

(1) Lithium (2) Carbon /3)/ Nitrogen (4) Fluorine

808 re3S® Bty H 208 Adger ) 88 Ko oS 28 ?

(1) dpawo Q) w58 (3) &S (4) oS

104 4f elements are called as
(2) Alkaline earth metals

(4) Lanthanoids

(W Transition elements
(3) Actinoids

if aroson O dorr devard ?

(1) 58868 saresren (2) 6 288 S*ex

4
3) e8randy (4) erogmrand

Iy The element which belongs t0 31d period and 14" group in Modern periodic table

(]) Aluminiun‘] (2) Silicon PhOSphOl‘DUS (4) SUlphur

Y60k WHsS wgéﬁ 35 bponb Hbah 142 W@égﬁ BobBELHoS Sarersss

1 ersHdaHo (2) 0= (3) D68 @) s0y6
\‘-\“1“-——

P
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: : . . ards nucleus 15
106 The orbital with more penetration power Lowarc

Byerds b ?
Bo|Ehn By iy el Rearibin o8 &), HH..-)

4 "

(1) 4d (2) 4f 31 4p () 4s

107 The electronice configuration of an element is 2, 8,.?6, Which one of the fOIIow'mg
element is chemically similar to the above element * 3
(1) Nitrogen (2) Oxygen (3) Phosphorous _#) Chlorine
DOENS dreo 2, 8, 6 5088 el redo, (B0 adyd o Sregod’ sdandbor FO dotyos 7
(1) P&t (2) @Byl (3) .ﬂ-abao'ﬁ (4) ge5

108

Which of the following pair of atomic numbers indicates the s-block elements ?
0B TS D wd ihrm Rowgen S-arlh irosre ArdFan ?

(1) 5.6 (2) 9. 10 3) 11, 12 45 7, 8

109 Identify the salt in the following.
806 rddd' edmind HBodos,

1) NaCl (2) NaOH (3) HCI (4) HCN

10 Solution with pH less than 7 ig

(1) Sodium chloride solution

(2) Sodium hydroxide solution
By Acetic acid solution (4) Slaked lime

PH Dews 7 g2y 8505 o (ordmiy,

(1) #8anc 888 (rimi, (2) ¥daso IraEyE odwan
(3) K8 ety |orieoiin (4) 88 wysn
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i In endothermic reaction, hea is

11

113

114

115

Mulrulisulinn

(1) released (2) not changes (3} absorbed (4) all of the above
Ay gds® S

(1) dbSei (2) ardy dodch  (3) (rodeded  (4) PN

One mole of Propane (L‘3H8) on combustion given *x kilo joules at STP. Heat Iiberﬂléd
by the combustion of 11.2 litres of Propane at STP in kilo joules 1s

w B (@05 (C3Hy) STPag sirdo Btwdypd X' 86" &y aipod. STP 6 11.2 beog (@65 &
dirdo Baddypdh ddiderh dihn 86 &6y o

(1) x 2 5 (3) 11.2 X ) 2%

A Na+ BH,0 — C NaOH + D H,, in this equation the values of A, B, C and D are

A Na+ BH,0 — C NaOH + D H, & shédwans’ A, B, C &bdatn D devien

(1) A=1, B=1, C=2, D=1 2r°A=2, B=2, C=2, D=1
(3) A=l. B=1, C=1, D=1 (4) A=2, B=l, C=2, D=1

Compound formed when excess CO, is passed through lime water
iy D> orgd o CO Dot pd S8 e

(1) calOH); 7) CaCO; (3) Ca0 (4) Cﬂ(HCDB)z

Mixing acid to water is o

(1) exothermic reaction (2) endothermic reaction

(4) none of the above
D38 wiypd) Soido

(2) addrs $ag

(4) =0 =y

(1) anymrss S8
(3) mg;scsmm
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16 Bleaching Powder i formed Trom

(1) Slaked lime @110 (@) Slaked lime + (1,

(3 Quick hime 11U () Quick lime 1+ o,

Dok Trab Sathod D yRbon

(1) 88 waye + 1O (2) an o+ Ol

(3) &4 eb)ur\.llﬂ + 1| ("“ oLl if:n.f;lln LU0,

7 Maximum number of elecirons present in an orbital of atom i

SAraoY) @ngy wbyerd & acd el (oh dowg

AN 8 (2) 6 (3 10

4) 2

18 Bases ean give ions in wiler,

W Foven WO @y,

BEaRtt (2) OH™ | (3) 40! 4) o
19 Colour of anhydroug CuS0, is

(1) White (2] Blue (3) Green (4) Yellow

Mﬂ‘gj (_‘U!'_';Ud ot

"
(1) Bewgy (2) beoo II (3) @i (4) sy

120 Washing Soda is used in ’

(1) Glass, Paper Industry (2) Manufacture of borax

(3) Cleaning agent for dome All of the above

stic purpose
L e SOEIr AR,

(1) i, &0 popse : (2) S8y gambes
(3) Ayitssome ghag B30k Dmods (4) w064
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SECTION = D : BIOLOGY (i ipyiin)

121 lotal amount ol urine excreted per day by humans is about ~ litres.

i thy Brayts i o M Ef:.\a*[_m:JJ AR,

(1) 1o - 1.2 (2) 1.2- 1.4 (3) 1.4 - 1.6 AT 16 - 1
122 Assimiliatory powers formed in the photochemical phase of photosynthesis are

(1) ADI* and ATP J_ﬁ' ADP and NADP

(3) AT and NADPIH (4) NADP and NADPH

Bkioesity SoGraBond™) wob dronih Gis* Doyl Bihbes 45BL

(1) ADP fbass Al (2) ADP @bat; NADP

(3) AP fbans NADPIH (4) NADP @bdan; NADPH
123 The_secondary function of lungs 1o carry out excretion is

(1) Removal of €O, and Water (2) I:limin_alitm of Schum

(3) Urca formation (4)' Excretion of excess salts

GinBsen wedorr B Bdh (Bab Jebm

(1) €O, fbons XD wanth bogt (2) two Gty Hdryed

(3) anirdatr sarrd (4) wbi eixe L0

i
124 [dentily the correct photosynthetic equation.

Light w ;
(1) o€ I”Z 1 IE” ~Chiorophyll » ”2("‘ + HZU + ﬁUz \

Il;lrl : c

{
Light . ('6[-1|2f)61+ 6H,0 + 60,

-
)

e e —

(3) 6C0,+6H0 —Fgrophyll

gt ' Hy,0p # 6H,0 + 60
—m/(’(”z +12H, 0 ~ Chiorophyll T C “l? f d Nty

B asidg oaird (Bond'D HOGLY :bb:ﬁﬁm'bl BoeB.

grod
e (J H, 0O+ 60

mod__, (H,042H,0+0
(2) €O, +2H,0 —Fgeede O 2

E'QB ( (

('“ (’(-”2 i ﬁ”z” njuifﬂ'ﬁﬂ ('(JHIED +GH .)'1'(})1
Agert)

—_— 1, + 6HL0 + 60

(4) 6C0, +1211,0 ~Ziginddo C “12‘?‘{'. 2 >
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T

125

126

127

128 °

— lunctions as filtration unit.
JZAiIun‘lL‘r'lllu.n
(1) Bowman's —

- bule
(3) Loop of Henle (4) Renal (4

SEFE [Sdrmorr 6 earinod.
(1) ol >ps (2) o884 T8 B0

(3) n} 4850 (4) 38 08

The latex of

latropy

plant is the source of biodiescl.
(1) Sapota (2) Chicle (3) Hevea )

—— Wt 388y 208 wardad & darrd 3.

(1) sdfen (2) DB (3) Sedage (4) eeta

Each human body cell containg of Autosomes,

(1) 20 Pajr: irs i
) airs (2) 23 Pairs m/zz Pairs (4) 24 Pairs
LMD 08 00y wde mbag [E* R anen (e de) doéray ?
(1) 20 esiger (2) 23 msey
<) 2 (3) 22 wgey :
(4) 24 amier
The organs which p .
2 ICh have differen Structure hy; perform Similar fiyre:
(1) Homologous Organs ﬂ*)’ L A Hinetions Gt
(3) Vestigial organs 4 Allﬂlngoug wEans
( ) Nn =l ] »
o) 806 Fety e &o8, nﬁﬁmam@m = R
- 3808 BdahEres,
(1) oy Fibg wdahey S o e
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129

130

131

132

Differences in character within o
acter within closely related groups of organisms is referred to

e

1) genes ) variati

(1) genes (2) variations M) and (2) (4) None of the above
&8 Bowogo (o Hroh Boss die e o ofmrod® dod Boro wobrd.

(1) esdogyen (2) Bergen (3) (1) dwbaxn (2) (4) B0 =Yy

A cross between a round, green seeded pea-plant (RRyy) and a wrinkled yellow seeded
pea-plant (rrYY). the seeds produced in F, generation are

(1) Wrinkled and Yellow (2) Wrinkled and Green

(3) Round and Yellow ) Round and Green

oldR dbak ey Jduren Ao wed T d (RRyy) dudoden fbary By JdTren Ao
W% 8 (YY) Roddm adidm, F| 860 deviod digren o B0l D8 hios.

(1) Andoien Sbax S (2) andden Ddat whHidd)y

(3) rholcd b BV (4) rooldd bary ehidd)

In I, generation. the genotypic ratio of monohybrid cross 1s

& D Hosom s g 6 o —

Iy é6o
; ,(2,)’3” (3) 1:2:1 (4) 3:1:3:9

(1) 9:3:3:1

ljula ¢ cellula, or cells arise from pre-existing cells was
' -

The phrase Omnis ¢
' s I |
V&.d DY (2) Virchow (3) Lamarck (4) None of the above
) Mendel -
. D15 Tengd @ hengd) o heroerd) S
3 emod aa;:blm@u*w (es2D 3. g
Eigven oS5 syy0thd) 8
e datelnder ? ‘
& (2) 98°38 (3) erarby @) 10 =Y
(1) dod &
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.+ is called
. ame JJowWer Is L«
| i he same |
: 133 Transfer of pollen grains from anther to stigma of t

(1) Cross pollination /té'f Sell Pnlln.mllﬂﬂ

(3) Hydrophily (4) Anemophily o
s B ol dovd Brugen i Hiyo Ewey Ser(md) BOOD

(1) s Hoves dodsgo (2) wéy ::mr‘ia’:ua‘ﬁa_n.

(3) me Hovd Holxsyo (4) srany dood HoE;0

I i 218 k as
134 Growth of a Plant in response to a light stimulus is Known a -
f > of the above
(1) Geotropism (2) Hydrotropism 37 Phototropism  (4) None ¢
Wi en 5088 wddroonr Hyodobe wotrd) ?

(1) woegossso  (2) Mowsdio  (3) sod widso  (4) 3D =P

135 Plants which undergo the vegetative reproduction through roots

H’f Colacasia and Ginger

(2) Murrava, Guava and Millingtonia
(3) Bryophyllum and Scilla

(4) None of the above
3 orgor mbab g8 ahpes ko somcme

(1) Feltot HBan w0 (2) dwBarr, erdy f6an, DOk & Dare

(3) parbeb oo ber (4) 380 w3

136 'The fluids secreted from seminal vesicles,

prostate gland and Cow
called seminal plasma. The seminal

; per's gland collectively
plasma along with sperm

is called

-_-—__.

(4) None of the above

(1) Plasma ) Semen (3) Placenty

Blrirden asys §4 (520, T |fod(@raren, T4 1508 @Drares, «
TR Pany Loy g Sesverty €00

() gy

B0 2065 gy worth.

(2) Digan s
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controls the

- _ Tl1thmu g
17 — N o . ; ‘ dive PISsHaLcs.
ll ( Epiglottis (2) Phapy ' food ang qiy towards their respeclive Passages
nx
/ * 3) Nasal cavi 4y lrachen
om0y B9800 B 88 . (3) Nasal cavity () ¢
?1‘5\‘5‘ Lﬂ%omw MQLBF&JDQ-
(1) éosirgs (2) a0 =
(3) a4 ssd0 (4) mrawerdio

(18 Muscular tissue present at (e floor of the chest cavily is
1) Bronchi D o L
(1 /ﬂ) Diaphragm (3) Trachea (4) Ahveoli
46:038 BS er6o8" 408 Sodtanumy ak,

S

—_— w0l
(1) wgireren (2) Deres saee (3) wgetnss (4) srafmufimen
139 yc absence of oxygen, glucose s converted to ethanol in
) Plants (2) Animals (3) Yeast (4) Lactobacillus
ulyeo oigomd Hdod® rEd adond m & Grédos.
(1) Bwszen (2) eodsiyen (3) &f (4) erfarbod

140 During cellular respiration, energy is stored in cell organclle.
(1) Golgi complex (Wilnchxmdriﬁ (3) Nucleus (4) None ol the above

fo wgiifon wbf Shaned® 48 D darorod dogBab udbdon.
(1) md doBgo (2) p&fwoparr  (3) dogso (4) 8 =

141 is a vital link between blood and tissues by which essential substances pass
from blood to cells and exeretory products from cells to blood.

M’Lymph (2) Heart (3) Arteries (4) Veins
680 ol SFhmredn (irod gredh wobovdo, Sroinod dyer m?m EboY, E50d"DE
ﬁﬁ‘:\ﬁﬁ erotS srorgel &h g0 darol &80 Herid dergo Qodd 7

(1) $as00 (2) hod (3) givdven (4) ten

'\'l-‘_‘_-_-_
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n 1661
re di:-.c.n\fﬂ‘:d by "’}}ﬂv—'il\ium Harved

142 Blood capillaries W€
Rene l.acnncc

(1) Marcello Malphigl i
(3) Girolamo Fabricl (4)
1661 & 68 B DI gl

(2) DoKX 03

(1) ardyg® &r0)2
g
(3) peteRr >R (4) BT

m shocks.

protects the heart fro
- al fluid

143
l’cricardi

(1 Pericardial membrancs
(4) Ventricles

3) Auricles
Hodd varsro od s';‘)'vmeima.
(2) a‘wgda!ﬁ‘édm |50

(1) #eysoxridoen SgE°e
(3) sogen (4) moBS

. prevents {ransportation of food.

144 In trees, removal of
(4) None of the abov

(1) Phloem _A2) Xylem (3) Xylem vessels
dy wdts o Sorbodadydod ?

aegg‘ ) B‘&ﬁoﬂh&;}ﬁ
(1) 9 dwereo (2) oo (3) oo TV (4) 22 5D

e BTV as a shock-absorbing .
7 . medium a —_— ; ;
shocks/jerks along with the meninges and cranium Ad profeeys the DR agal

(1) Lymph
(3) B‘{)Od Mcﬁrﬂbrospina\ ﬂuid
(4) None of the above
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(1) 9B ob srarddod.
(3) &% (2) By DoEDo
(4) ﬁﬁ) a-b@

' SPACE F 3 onodadd Hedn
CE lOR.-ROU(JH WORK / é ©08 Ber
& oadd &
L

PR B B


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

r-

1406

147

148

149

Which part of the brain controls the emotions ?

(1) Cerebrum (2) I?ium:cphulun
(3) Mid brain jﬂ"'-i'crclwclllll11
Dt ) D grdo grarRren dano@ob ?

(1) dupo (2) argd ﬁ"gc

(3) g Wésco (4) wodiyo (WBYD)

The mode of nutrition in Paramoecium 1s

(1) Ingestion (2) Absorption ﬁTFHI‘EIHi{iC (4) Saprophytic
dorddonod P ddorr adiibidob.
(1) wosd |firmo (2) e (3) Dovdy Bddo (4) Hrdsaso
External fertilization is observed in
(1) Monkeys (2) Humans [(() Fish (4) All of the above
arirg Hobstuno &° atrb@od.
(1) eben (2) drdpen (3) Biew (4) 250

are fat soluble vitamins.
et €68 Do ID ?
(1) B & C 2 A& C (3) B&D @) A&D

150 The structural and functional unit of nervous system is

},l ) ”Ncumn (2) Nephron (3) Osteocytes (4)
o ﬁgﬁ% m.uﬁa_ aﬂ‘lﬁ"ﬁ;ﬁ Hbary Lﬁﬂﬂ‘é&ﬂ [BErmo

None ol the above

(1) =8 &mo (2) A8 (3) eREr3eS e (4) 8D 59
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